T Fioa?‘»tﬁe:cﬁ'ticél}\iielues\f’oi'rsé Wwo-tailed test with = 0.01.

s Fmdthemflcal valﬁ.e“fcjr‘gle? taﬂed test i;)ith7&;0.05.

3 Find the critical valués for a 't,fvéfd-ft‘ajiédi test with a = 0.10.

You w1sh to test the claxm that o : 20 ata level of sxgmﬁcance of o= 0 05 and are glven sample statxshcs n= 35 -

K X = 19 1; and s 2 7 Compute the zvalue of the sl“andardlzed test statxstxc Round your ans ‘
places B e e i
i You w hv to ’test,th’ ’cll m
l

Suppose you wan o tesx i he c:klrn that w>7. 8 vaen a sample sizeofn= 45 and a level of sxgmflcance of
a= 0 0L, when should you re)ect Ho" ST

18} REJECt\HO 1f the standardxzed test statistic i is greater than 1. 645.
':D) Re)ect Ho 1f the standardxzed test statxshc is greater than 1.96.

g Suppose you want to test the clann that n= 3 5 vaen a sample size of n -.‘ i and "5 IeVél ijf‘s‘iééh‘iﬁCaHCé?df‘i%
a=0. 01, when should you re;ect Ho IR SRR S R
A) Re)ect Ho if the standar ed test statxshc IS greater than 2. 573 or less than -2 573. A

B) Re;ect Ho 1f the s '

C) Re)ect HO If the stan lard'
D) Reject Ho 1f the s andardxzed'test' statxstlc is greater than 1. 96 or less tﬁan -1.96.

d est stansnc 1s greate than 2 33 ¢ or Iess than -2.33.

d te st‘statxstxc is greater than 1. 645 or less than —1.64_3; -




08¢ you are’usin .a 001 to tes he dairi that y. s 25




